PRODIRECTIONAL

(Scale: 5":100' (10"))

5 Inch MD-Gamma Ray Log

Company: Professional Directional
Well: Kaup 3407 #16 -2H

Field: Mississippi Lime

Well ID: 14-28695

Job Number: LKS6114914

Location: Sec. 16 T 34S, R7TW
Operator 1: Ronny Golightly
Operator 2: Huy Nguyen

Comment 1: LAT:37°4'51.197 N/ LONG:98°5' 22.111 W
Comment 2: Y: 151090.00 / X: 2119767.00

Comment 3: Mud Density (Ib/bbl): 8.4 / Funnel Viscosity (sec/qt): 26
Comment 4: Flowline Temp (DegF): 84°/ HTHP Filtrate (ml/30 min): 99

Comment 5: Max Temp (DegF): 163° (NAD ) Gamma Ray in Reference to Elev KB (Kansas South 1502)

State: Kansas
County: Harper
Country: USA

Elev KB: 20' + 1,360' = 1,380’

Elev DF: 1,380’
Elev GL: 1,360’
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Hole Data Casing Record

Size From To Size From To
12 1/4 0' 810’ 95/8 0' 804"
8 3/4 810’ 5,268’ 7" 804 5,268’
61/8 5,268’ 8,787

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N 1061 3007 3007

Cal Factor 4.85 2.69 2.69

Gamma Offset 50' 41 39'

Start Depth 3,162 5,227' 7,630’

Start Date 11/14/2014 11/20/2014 11/24/2014

Start Time 20:13 13:24 15:03

End Depth 5,218’ 7,630 8,747

End Date 11/18/2014 11/23/2014 11/26/2014

End Time 06:44 15:27 05:28
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#63 MD:4158.0 TVD:4149.0 1:19.5 A:356.2 VS:80.2

#64 MD:4189.0 TVD:4178.0 1:21.1 A:355.9 VS:90.9
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